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(Write your Roll No. on the top immediately on recei;)t of this question paper.)

Note :— Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.
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Attempt A/l questions.
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Section A
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1. (a) Explain the traditional classification of categorical

proposition on the basis of quality and quantity. 10
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Is existential import a critique of the traditional square

of opposition ? Discuss in detail.
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Distinguish between any one of the following : 6

Freffen § @ fredt T #1 R o AR
) l_mmed‘ia>te and Mediate' Inference

sorafed qu A SIAH
) séntence and Proposition

o Aw A

(iii)- Deductive and Inductive argument
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Give the obverse and contrary/sub-contrary of the following

(any }wo) : v

freafefen 1 wfwads qo forada/em-faada difsm
(F @)

() No scientis%s are fool.

(i) Some NGOs are not self managed.

| ®B NGOs @ wefud T A

(iify Al cricketers are good ;;layers.
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If ‘Al Journalists are brave’ is true, then what can
be inferred about the truth/falsity of the following :
A ‘@t weR A § v % @ Frefafen
® GOA/AEEN F IR T SRR RRm =
RS I

() No Journalists are non-brave.

(i) Some non-br;ve_ persons are non-Joumalists.
T S-wEE A a—ﬁaﬂi ‘sﬁ 5o

(iid) Sofne brave persons _are. Journalists.
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Explain all the four. Figures and Mbods of categorical
syllogism. | : o 8
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Explaiti-and illustrate the fallacy of undistributed middle

and existential féllaéy.
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S;ction B
(Evs )
Use truth tables t,g ﬁnd out whether the f;)llowing are tautologous,
contingént orv:'c_:n(;rjlér;dictory (any two) : A. 6x2=12
W faf g Feite Fw fr e
-ﬁ@ﬁaﬁm,ﬁeﬁéﬂaw'm%(ﬁ%
SO
G (p.~@>C-p.9
() p=Ip.{gv~ql
) th(péq)-QI-

P.T.O.
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4. Determine validity/invalidity of the following using shorter truth

table method (any o) : 6x2=12

o ol i g Frea S

et W (B o @) |

KO *(pDQ)D[(p.D Q) >orl

(i p=9).p S als -p

(i) (p.@9)>lpva.p).

5. (@) IfA, Band C are true and X, Y and Z are false. determine

the truth/falsity of the following (any mwo) : 2x0=4

WA,B@TCW%@?XYST}TZW g
T freafafes =t Somysmea fife HifS
(FE st @)

@ ~[~(A.C)=(~Bv-~0Q)
@ (CvB).(~Y.-~2)

(i) [AvVBvO].~(Xv(Yv2Z).
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Test whether the following are equivalent (any orne) : 4
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() Up>g@)>r] and [~(~pv.g) vr]
() [pvg)>or] and [(pvq).~rl.

Symbolize the following (any three) : 2x3=6
frfafea 1 Faimiw i (FE o @) ¢

() Tt is false that the marriage will take place only

if the groom’s father will receive the amount of
dowry.
T aae ¥ f foam o am Faw R
R % fom W e F WA R
(i) Novelty can be discovered in art if and only if
the artist is extremely intelligent and committed.
Cwem § @ o WS @ G % oAk
AR Pow Afe FOHR wgd A e
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P.T.O.



@

( 8 ) 2614

(i) In case he gets the job, he will not go to his

village.

o S A o @ o

T TE s |
(v) Artists and poets are romantic.

FOFR TE G wAF B

Construct formal proof of validity for the following

arguments (any one) 6
Frafofen afed & el g 9w
iV (FE o ww)
O A>-B

~AS~C

C\'/(D.E)v

~B
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(i) A>DB
~Co>(D>E)
Cv(AvD)_'
~C
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(b))  Symbolize any three of the following propositions using

quantifiers and propositionél constants : 3x2=6

frafafen & @ 5=t a9 q@amdl &1 o mo
TREH ae maarcw amm‘r mwﬁﬁm
) ‘;iéﬁets never shine by their own light. (Px, Sx)
SR e SRR g
(f) Every physical thing is perishable. (Tx, Px)

Ta% difdr T TR Tl

P.T.O.



10 %14
(iii) th all mangées are sweet. (Mx, Sx)
wift o WS T AW
(%) Most Indians believe in rebirth. (Ix, Bx)
an”uw s g/ fawemm <
s |
Section C
(as W
7._. ) v(a). Write short notes on any two of the following : ,
6x2=12
 Fretfeir % % it 9 W o o
(i) Falla;y of Appeal th> Eorce
(ify Fallacy of Com>plvex Question

DAY THAS
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(iiiy Fallacy of Appeal to Inappropriate Authority
(z‘v)’ Fallacy of Composition -

w‘lﬁ? ThaI |
Idenﬁfy and explain the fallacy committed in the following

examples (any two) : . : 4x2=8

mmaaﬁmm@m

o TR orem Wiy (FE s )

() Did you visit Queens University during your stay

at Canada ?

=7 ST HS] I S AN T faafaaer
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_ (i) Finish the task in time otherwise get ready for the

consequences.
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(iif) "Most of the members of our team are brilliant. Hence

our team is the best among all.

TR I & Afyww wewm gigm T oem:
T dm wdds ¥



